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‘ SECTION - A
Analytical Ability

STnE RBB 5 S ;a;xks 178
e 1 78

Questions : 75
Biyes 1 75
(i) Data Sufficiency
ST0d STgES
Note : Inquestions numbered 1 to 20, aquestion is followed by data in the form of two statements labelled
as I'and Il. You must decide whether the data given in the statements are sufficient to answer the
question. Using the data make an appropriate choice from (1) to (4) as per the jollowing
guidelines :
a) Mark choice (1) if the statement I alone is sufficient to answer the question;
b) Mark choice (2) if the statement II alone is sufficient to answer the question;
) Mark choice (3) if both the statements I and II are sufficient to answer the question but neither
Statement alone is not suflicient;
d) Mark choice (4) if both the statements I and II together are not sufficient to answer the question and
additional data is required.
EPES 1 15008 20 566 8D)S ©8 BHS 1 B, T o8 1, 16D HEs Ko Tokh GISTe Seofom
sgpgon. al)l 6Zord S5SMod AT BITTe PHE SIrTTY aFosk® Arges
eYHoalr Sor ©d Dk AT, & DL 0B IrFEGE SrEren SIATAD (1) $008 (4)
565 98 Yok 2T JobE BaDdod. :
) BH d5rzSo afjobs BIEI0 1 5@ sognBoond Do waes (1) M KH30E0s.
) @9 Ssrarso adjoss PSS Il Srgd Soghsoond B amw (2) m H80d.
?) BH% I8roiSe AFodhs PIITe I, 1500 dovgBSoon wodest O 25,8 Sra Hovgho wEXE &
a0 (3) ™ Hgoded. )
BH% d8reSo ABYoK BISreo 1, 1158% Srew BO7gB0 375 W85 oo @IHEHond L adw

&)
(4) m Kagowod.
1 v:xn.ln. the ratio between the areas of a I nwlt 2 3 eriodedh
circle and a rectangle ? %
1) The circle circumscribes the rectangle, W n 38 p< V0 edgtyod D o
I The radius of the circle is 4 cin. Sopg p I wrhoduddo
2 580, a8 Agama@o Droge e 4. Can you find the ordered pair (a, b} ?
o8 7 1) 2is theroot of x~ ¥2* =0
1 © Sygo B¢, S5y 56350 3308, [ Lisawotol ¥'-b-0
1 o 58 g § o E200 (a, b) EDBSHOT 2
2. What is the value * + y° 7 U x- 92" =082 Sww0
x4+ y* doos Jos 7 ) x-b=08&1a8 Sorvo
o Gl ) x* 42 =25 5. Is x" - 1 a factor of fix”) ?
. 181> 1 a composite number ? )8 xo
ll[: 1 is not divisible by 2 ﬂ; )f[go)x P Fad Nw‘;ﬁaf 0
1 is not divisible by - =
ps A Y any prime p with 6. What is the present age of A ?
0 . 1) A has a son B of age 7 years
> 18 Sodkey Sogrg 7 ) After 7 years their age ratio will be 1:8
e
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7. Is the product 'ab an irrational number?

1) ais an irrational number
1) b is an irrational number

oo ‘ab f wsEdab Sogrg ?
1) aw§ esseah dopg
1) bag wssdod Sopg
8. What s the average marks of 7 students?
1) The average marks of 6 of them is 54.

1) The marks of one of the six students is
58,

7 208 Do Hikn Ircy Jod ?
1) S6s° 6 So08 DagRo diiko Srdy, 54

1) & wHhses* 280 Srdy, 58
9. WhatisAUB?
AUBDG?
D A={1.2 mMA-B=(3, 4}
10. What is the value of Cos? 6 + Cos* 6 =?
Cos? 6 + Cos* 8 den Jos ?
1) Cos®6+Sin®6=1
1) Sin6+sin’6=1
11. Is the value of x unique ?
xded DFES> 2
I x<0 mx*=16
12. InAABC,D andE are points on ABand BC
respectively and AC = 7 cm. What is the
length of DE ?
1) D is the mid-point of AB
1 E fs the mid-point of BC
A ABC &' D, E o 3&3m AB, BC 03B
Dodges, AC = 7 20.5., DE 36308 ?
1) ABE D &5 S0t

1) BCS E 585 Doy

13. Isx>y?

x>y oo 7

1) 5=25 my=-2

14. Is A a scalar matrix ?

1) Alfs the unit matrix
1) Ais a non-singular matrix

At ©OF S7@F 7
1) A oSdiS Sr@E
) A o ©doge Sr@€
1F. What is the cost of 1 chair and 1 table ?
1) The cost of 2 chairs and 1 table is
Rs. 1,100.

1) The cost of 1 chair and 2 tables is
Rs. 1,300.

1

16. What is the compound interest 7

BS54 dos 7

17. AandB are two trains of the same length.
‘Which of the two is moving faster?

A, B uT 24 fio Dok B&), & BosodS’

18.

19.

. 1) ©8 a8 vous'n @Hao

20.

an

Note

BrES

£8), 1 Do pb308 7
1) 2 Sbyen, 1 Banen pb& &, 1,100
1) 186, 2 Bendy) & 6. 1,300

1) The principle amount is Rs: 12,000
1) The rate of interest per annum is 8%

1) wbes & 12,000
1) 34 3to BoSGT08 8%

1) Acrosses atelegraph polein 10 seconds
1) B crosses a telegraph pole in 12 sec-
onds

28 3dorr I¢os 7
D AnS BOES So0a7d) 10 DESST
oS08,
I B 28 Bors Sogrd) 12 D,
orendos. ¥
What is the value of y ?
¥ dend Jos ?
) 66-3=0 mx=1
What is the area of the triangle ?
1) Itis a right angled triangle.
1) It is an equilateral triangle with each
side of 4 em long.

Bsbm ITogmos 7

1) 8 a0 4 Do.o. fo SZoerio Bbao
What is the X-intercept of the straight
line?
1) It passes through (5, 0) and (0. 4)
I It passes through (0. 6]
36689 X-Byrpody 24303 ?
1) ©8 (5, 0), (0, 4) o Tgo Fod
I 6 (0, 6) o5 2808
Problem Solving :
Sy FES
: In questions numbered 21 to 35 a se-
quence of numbers or letters that follow a
definite pattern are given. Each question
has a blank space. This has to be filled by
the correct answer from the four given
options to complete the sequence without
breaking the pattem.

21508 36 555 Sowd fo ©8 PHS'Sr
af)d Sopge M ooy M wl
Lééaugfm»)iﬁ AoHSrY FERTIN. $8
Bhssr of o $ob. » w90 aRd
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28.

29.

Note :

BPEs :

21
22.
23.
24.

Fep oo 08 $0 GoN ETLE
DEYE'D BHES DoDIrV8 Foifo EgEion”

roowd.
6,18, 54, ....., 486, 1458
1108 - 2)162 3169 4381
BD, CE, DF, FH, GI
1)EA 2 3ED 4)EG
6, 14,24, 36, ......
140 2044  3)48 450

, 2342, 3453, 4564, 5675

11231 2) 1232 3)1233 4) 1234
136, 100, 75, ....., 50, 46, 45
153 2)55 359 460
18 27 125 216
8'9'13 " 21" 28

35 eq 75 81
EE) AF 4
82:122: ..r 1226
1145 2170 3185 4210
1) GTXYHU 2) DQXYPS
3) ABXYCD 4) CEXYFG
ZYX, WVU, ........, QPO,
1RST  9)SRT"
125:64::343
1125 2)216

. LMN:PGR::...

, JLOG, ..
1)MPRO 2 MORP 3] MRPO 4) MORT
Answer the questions 36 to 40 based on
theinformation given in the following venn
diagram.
Bod ail)$ 35 Oigo eedorr 36 S04 40

388 fio Sgo srawbsy

A B

(S
o/

The number of elements in A but not in C
A sotr C &' 82 Srore Somg

118 2) 30 3) 36 4) 46

- The nwmber of elements in (A A B) - C
(AN B)-C e Srore Sowg
e 2) 10 812

413

38. The set having 10 elements 1s

39.

40.

Note :

ards: 41508 50 568 fo BHos* $6Hedn |
#gotsod.

41. ()04 (2) 0.04 (3] 0.404 (4) 0.0004

42. (1101 @170 (3) 196 (4) 226

43. (1)101  (2)2002 (3) 3003 (4) 400004

44. (1) 6622 (2) 8844 (3) 9933 (4) 3311

45. (1120 (2127 (31125 (4123

46. (1CBA (IDCB (3)EDC (4) FEP

47. (DACE (2FHJ (3)SUV (4) RIV

48. (110A (IU  (JEB (@Al

49. ()XYZ (PQR (3JLMN (4] TSR

50. (YW (VS - 3RO [4INK

Note : The following Pie Chart gives the marks
obtained by a student in subjects E, H, B,
T. G, S and M. The total marks of the
student is 360. Using the information
answer the questions from 51 to 55.

&rE8: o8 208 E H, B, T. G S, M ed

51.

0 Srores fo S8
1 AnBlUC 2)(AuBnC

3 AuBUC AANBAC

The number of elements in the set A

328 AL Srove Sowg
1136 2)46 3154  4)56
The number of elements in AUB U C

AUBUCED SToro dopg
146 2155 3)43 493
In questions numbered 41 to 50 pick the
odd thing out.

SRR SO Sy, 0 Bos aYS B
TS amyd. © dorgg Ingo Srdy e
360. & W &HRrNoN 515008 55 6%
o BHhos 2mmdioy,

VA |
YA

The total marks obtained in B, G, M and
Sis

B,G, M, 8 odf §0b 3OS Srdyo
10210 2)230 3)240 4)260
How many marks the studeat got in
subject B ?

9% B doppt SO)8 SR 1

1) 85 2)48 g148 4) 50
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57.

59.

60.

55.

Note :

APSH

53. The marks in G 18 equal to the sum of the

marks in the subjects ..... i
G & 3D Ireyes, PG ... ... o8
arooo IGRE dirso

YME 2JHE 3)BE

4 M, H

54. What is the average mark of the student

in the subjects M, E and B ?

20398 M. E. B $3%06% ardye shts
2087

145 250 355  4)56

In which subject the student got maxi-

mum marks ?

2 PR DOHRL wagls Srdy,w STyen?

ne 28 3T 4M
Questions numbered 56 to 65 are to be
answered using the coding and decoding
of the letters in English alphabet as given
below : For coding the /" letter is shif
(27~ 2" letter forr=1,2, 3
14" letter is shifted to the 26" letter and
Jorr=15,16. ...., 26 the " letter is shifted
to (2r - 28)" letter. For decoding the
inverse process is followed.

56 £08 65 S6% Ao PHo SErETe

2358 2D VLBEresd viTuk

@06 S §80R, & E'8oR vgan

G3ATNoTD. §oA% 15 wEod)

12,3, , 18, ww§ﬁjﬁ) (27 -2n3

@godb; 1= 14 wonssys 268 wgodb,

=15, 16,...., 26 woNIAydo (2r - 28)5
wgordb Srond. A8'8oRs 83 o'
BEaH® GHErROTO.

Which word is coded as "GTIA" ?

D 5680 "GTIA" Ir &8 wydod 7

1MIEX 2)EXIM 3)MIXE 4) EMIX

What is coded as "EIZCQV" 7

EIZCQV" i §'5 eondds 7

1) KITKAT 2) KITPLY

3) KINLEY 4) KINDLE

Which letter is coded as V" ?

W 88 wond efE%e 7

P 2g X  AY

In the coding what the code letter for

frtes

& Saofe’ s & ¥ wguha 7

11 2J 3L 4N

Which letter is shifted to itself in the

coding?

Faokid' o8 6B 8 sond wFeho

N am 3l 4%

81.

62,

63.

65,

66.

67.

70.

"OYZLY" is the code for

"OYZLY' &35 .. 8 B5
1) FANTA 2) LIMCA
3) FUNTO 4) FOREX

Which word is decoded as "AYMZRA" ?
CAYMZNA" I B8 wond 3552 7

1) MAGNUM 2) MAGNET

3) MAGICS 4) MAJORS

Inthe coding howmany letters are shifted
to themselves ?

Fdofes* 7y wEow F8E o3 #§
BebubTon?

B 22 33 44

What is the code for "POTO" ?

"POTO" & 5 D& 7

1)BDLD 2)DDLD 3) BDDL 4) DBLB
What is the code for "TENDER" ?
'TENDER" § §& $&0 28 7

1) LZQHZS 2) LQZSgH

3) LQZSSH 4) LQZHHS

How many numbers from 1 to 100 are

there each of which is not only divisible
by 4 but also has 4 as a digit ?

1206 100 355 fo Sopged’ 4 B Jhacm
FhoduEEDEE 40wk 8o fo Sopgd?
n21 220 30 47

How many days were there from 26 Janu-

ary, 1988 to 15 May, 1988 (both days
inclusive) 7

26 w330, 1988 ob 15 D, 1988 385 I

Gereomyom (& Dot Baren €OB)?
nno P11 HU2 413
1£2°3=11,3°4=85and 2" 4 =20 then
5°8=..

27°3=11,3%42853"4=200w3
5°3= .
n128 215 328 4186
Ma*b=a’+ab+3then3°(4°5)=

a*b=a’+ab+3@nd 3°(@°5) =

N1z 219 3129 460
In the array 185729843627518943659
how many instances are there where an
even number is followed by two odd
numbers 7

w0 1857298435275159438596 BY
Sodoyd! Dot B Sowge STE ¥ S0dowg

30087
10

21 32 48
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77.

78.

73.

74.

72. Five persons A, B, C, D and E visited the

Museum in the following order : D visited
before C and afier B. A visited before E. E
is the last one. Who visited the Museum

first 7
A,B,C,D, Eod ofibs: S5 Hr2c
SBpoTHh. C fod Swodk, B & &ugs D
&6y, E §oll Swodh A S0 D568
39)08 E wodb¥ol w0 $6)008TSH?
1A 2B 3¢ 49D

In a wall clock what is the angle between
the two hands at 4.00 ?

a2t Fd facirdod’ 4.00 fobo dScbodt
Bod Swepo Hoi; Emo Jod 7

190°  2)120° 3)150° 4) 165°
{xe R:|x-1| =1}
Dol 21001 30.2) 4){2,-2)

What is the least positive integer n such
that 10% + 26 -n is a perfect square ?

10%+20°-na¥ 3¢ Sopg wdbsty a0 €254

&3 rgoto n 06 ?

)10 2060 3116 4)24
SECTION ~ B
MATHEMATICAL ABILITY

mﬁé_@amg 58 )
Questions : 75 Marks : 75
Bfyeo 1 75 . Srtpe 75
76. Ifa,barerelatively prime integers whose

lemis 1,260 and if a = 36 then b =
2, b o #DE SO Sowges, T S 1,260
S0ak0 a = 36 wond b =

35 270 314 440
_—

1 [T« 0 < §3F thenn =
L

.

[TxX*% wond n=
xo1

N2 23 g5 46

Ifx+y+z=0then

(o (o e -

Xty+z=0wwd (ne)%;(_w]r’,(_.xj‘

Na*  9at mal o4

79.

80.

81.

82.

84.

85.

86.

waA [" ) ahereadzbon Ot
|2 a oneread-beroandn,

then A =
a=l? :j.ndAbcxo.A’=Amn»§A‘m,
N 21 3)1000A  4)-10008
wa=|° 11&henA""=
10]
[0 1

| 101 =
A= [ 0} wond A1 =

N1 21 HA  4-A

Ify+z=ax,z+x=by, x+y=czthen
1 1 1

R TN + =

a+l b+l c+1

ytz=ox, z+x=by, x+y=czomd
1 1 1

B kg -

a4+l b+1 ec+1

01 22 33 a4

Ify+z=ax 2+x=by, x4y =czthen
1 1 1

a+l b+l c+1
y+z=8x z+Xx=by, x4+y=cz woxd
1 1 1
b=
a2+l b+l c+1
13 22 3)1 40

The product of two consecutive integers
is 210. Then the sum of their squares ls

Bods 363 FRoTY oo 210. eIy T8
Sgo Igo

1420 2421 3422 41423
Suppose f{a) = 2 (b~ ¢) + b (c - ) + ¢
(a - b). Then the remainder when fls} is
dividedby a +b + c s

fla) = a® (b~ ¢) + b° (c —a) + ¢* (a - b)
o808, w5 fla) o a+b + ¢ S FhosT
Sikoy Fo

la-b 2b-c 3)-1 40
Ifa+b+c= 0 then the average of the
numbers a%, b?, ¢ is
a+b+e=0end b o i
11 2abe  3)3abe 43
The least number to be added to 837 t0

get a number exactly divisible by 4, 5.6
and 7

4.5 6,7 off DHaor srnodudly 837 H

Seasisobs S03 Howg
u1 22 33

4) 4
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89.

90.

91.

92.

93,

94.

95,

[e7.

The largest four digit number which is
exactly divisible by 47

47 B dhdor wnoded Top wolu HeR
Sowy

1)9954 2) 9964 3)9974 4) 9984
If a, b are relatively prime integers then

thegedofa+2b,2a+bis

a,bes DY BFS Jowgoond a+2b,2a+b

© 6>

11 22 3 1or2 4 1or3

2 =SinxCosx +k
Cotx

then k
Sin’x
1- Cotx

X
=SinxCosx+k
x

wand k=
1) -1
If x

42

31
2b Cos A Cos 2A - b Cos A,

2)-2

y =2b Cos A Sin 2A-b Sin A,
then x? + y% =

x=2b Cos A Cos 2A-b Cos A,
y=2bCos ASin 2A-bSin A,

wood x2 +y%=

1)-b?  2)-2b* 3)2b° 4b’

If k(Cosec o - Cot «) = (Cosec o + Cot o)
Sin® o then k =

Kk(Cosec o - Cot o) = (Cosec o + Cot «) Sin® «.

wond k=
1) (1 - cos o) 2) (1 + cos w?
3 sin?a 4) cos® o

logyo tan 1° + logy, tan 2° + ...
<eevre + l0go tan 89° =
4]0

yd

3
KEx=5+2y6,xy=1thenx’+2xy +y’ =
Xx=542+6,xy=1wond x*+2xy+y’=

196 2)100 3)144 4] 169
Ift, denotes the n** term of an arithmetic
progression and 12 t,; = 10 t,q then t;, =
¢ wokF5e'a n S SEA L, SrOIT, 12,

=10ty wawd ty, =

1) -3 2) -2 3) -1 4) 0

98.

99.

100.

101,

102.

103.

e

S Ry
1 Ll 4yl 4L
2 3 4

The Geometric Mean of 100 ++104
and 26 - 5 is

V100 + V102, V26 - 5 © thn S50
N2 2126 312412 42412
The harmonic mean of

10% of (a + b) them

Ifa% of b + b% of a =
the sum of reciprocals of a and b is

b < a% +a & b% = (a + b) & 10% wond

a,b o Yo, dre Ivgo

i 2]—1-
2

3i

s
1f 16% of a number x is 10 more than 20%
of 100 then x =

4¢ Bopg x & 15% w38 100 & 20% §3) 10

e

1150 2)250 3)200 4300
The price of an article was decreased by
10%. Later the new price was increased
by 10%. If the latest price of the article
is Rs. 990 then the original price (in
rupees) was

8 S F65 10% BHoT . SHTS T EF
S6% 0% BoTh. w SwY 90 8 6
&, 990 wond 00 v § (Srdrandgl)
111010 2)1000 3)1210 4) 1230
An article's list price Is 10% more than
its cost price. If the article is sold for a
discount of 8% on its list price then the
gain % s




[image: image7.png]& PESEDe F5ReD 10% iy d. ©
65 Do 8% apod oud

| wgFFse
11 211 312 414
104. An asticle realizes a loss of 15% if it is
s0ld for Rs. 1,700, then the selling price
of thearticle (in rupees) to realize a profit
of 15% is
€ %YW G&r. 1700 o8 wdyd 15% $Ho,
S30b. T 15% orFo TIVIH) B SRHI
wlySebs &0 (Eraed)
112000 22100 3)2200 4) 2300
2

x
100 +4/104 then —.+ ==

105. Ifx= =

2
x

i x
x = 100 + 104 woxd =
1226 20 V26 312v25 45

fa 1
106. Ifx=+3+42 Lhen‘xt;l #

e
x= V3 +VZ sad tx+%} .

1140 21144 3164 41128
107. Aand B can do a piece of work in 6 days
and A alone can do it in 9 days. In how
many days can B alone do it 7

28 332 A, Beo 00 6 T Santh. 08 522
A 9 Fd Bobiiod. vowd Bahd e
500 2% Ced Bowrod 7

12 214 316 418
108. 25 meters per second = - k.m. per
hour
L 25 L0 = (oL .o 8.5,
172 2090 354  4)108

108. A train travels from A to B at the rate of
60 km per hour and from B to A at the
rate of 40 km per hour, then the average
rate for the whole journey s ....... km per
hour.

28 Bow Aol BS: ok 60 8.5, Ifod'sr,
B %04 A % fobd 40 &5, Bsodsr
Bordl Wgo Perned® B sutwdno
oty £

1) 46 2) 48 3) 50 4) 52

110. A sum of money doubles in 10 years at a
rate of simple Interest then the rate of

simple interest is

Fod framy Fisnsg 54 dnd 10 Sossyot

Bohodoidion. wivpts dirg 54 dbs
1o 12 3ys 418

111

112.

113.

114.

115.

116.

A tank can be filled in 16 hours, but | |
takes 20 hours due to a leakage in ity
bottom. If the tank is full then the num.
ber of hours taken by the leakage to
empty the tank is

wf 84 15 fobd Rodhudk. £ &y
SEHLETS fo Doy 5 ©8 Jokbs 2
fobes Stud. © ey 3y 58 v wnsg

Sy fobe Howg

130 2)40  3)50 460

The pipes P and @ can fill a tank in 14
hours and 21 hours respectively. In how
many hours can both P and @ together fill
the tank 7

P, Q Dy af TE J03FE SHIw 1
Hoben, 21 fobes BHotron. Bodr §0% ¢
82 20 fobd dostivy?

42 14

42
110 2) = 3 %, 4 3

If 100 Apples and 50 Mangoes cost
Rs. 900: and 50 Apples and 100 Mangoes
cost Rs. 1050, then the cost of 1 Apple
and 1 Mango Is Rs.

100 DS Body 50 XA Hod: pbé
&.900; 50 D& Dody, 100 37208 Sog »bs
&. 1050 esond 1 258 Sod, 1 5ra 50&1

988 o

D11 212 3138 414
The least value of x so that 6896 x 45 is
divisible by 9 without remainder is

6896 x 45 © 9 dhuow whodky x K

Qwd

15 26 3)9 47
A chemist has 10 ml of a solution that
contains 30% concentration of acid. The
amount (in milliliters) of pure acid that is
to be added to the solution so as to
inerease the concentration to 50%
2§ SFoRIKND 5§ 30% wiords 05 10
2.0, @300 fok. & TEnod uio mEs
50% DoIITIH) & EITIE SodSodd

BEe Sosrmo (D dugs’)

1)4 23 3)2 41
A regular Octagon is inscribed in a circle
of radius 12 cm. Then perimeter of the
Octagon is ...... cm.

12 Do.do. Igdgorr fio ws HFod al ¢
BH2 wodpPospaod. wlypdh ¢ wHdd

B
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119.

120.

121.

122,

17

450 o
nidasin 20 o) s ein 450
2 2

4192 cos 22

2
A conical paper cup of semi-vertical
angle a, hasaradius 2 cm. Then the angle
a so that the cone will have a volume 20
em®is
o 80280 O3 28 Jom wTEY TASY By
Tpgo 2 0., & FASY K5y PEBOSTR0

20 20.5.3 edbdy o I
2) Cott [E)
3

3 8im7! (7—5] 4) Tan™t (li‘)
= =

Ten years ago Awas half of Bin age. If the
ratio of their present ages is 2 : 3, then
their present ages are (in years)

338¢) ES0 ASabiny BIaa ' dKfo sobad.
T B8 SO AW 21 3 wowd TO
BRS Sendne (hee)

1)20: 30 2) 14: 21 3) 16; 24 4) 18; 27
The arithmetic mean of 1%, 2%, 8%, ..., n’is

12,22 3,...., 0¥ © wosHEgE0

45°
3) 192 sin ——
3192 sin —

1) Cos™* -
1(

1 n(n+1)(2n+1) nn+1)
6 6
3 (n+12n+1) 4 n(2n+1)

6 6
The mean, median of a distribution are
128 and 125.6 respectively. Its mode is

8 DereTdl Soggioo, Sgighiso Sham 128,

126.6 wowd T wrEoEso

1)120.8 2)120.6 3) 1205 4) 120.4
The probability that exactly 3 heads
occur when 5 unblassed coins are tossed
simultaneously is

5 a8e sde w0 Joedh som 3
Tiyen 5% Soarsys

5 5 5 5
N 3B =2 B
13 ¥ Y3 Vg
A, B and C contract a work for
Rs. 11,000. A and B together are sup-

+ posed to do »121— work. Then the amount

(in Rupees) that C gets in Rs. 11,000 is

A, B, C o wf 320 6. 11,000 o
7

Sty A B o €05 o 507

o 30 Basr Oy dotnos. eBpd: &, 11000
& C 208 Bngo (brdrewd)
1)4,000 2) 5,000 8) 6,000 4) 7,000

123. Asum of Rs. 2,400 is tobe divided among

A, Band Csuch that the share of A is half
the sum of sha-es of B and C; and the

share of Bis % of the sum of shares of A

and C. then the share of C (in Rupees) is
&7.2,400 2 ) A, B, Co &34 B0 Dgom
SoTo. A &t T&r B, C o Ingo Ierd
Hrior H0ck B @nY), T A C v Zugs

T ;27 So. vk C o (Erdad)

11640  2)800 3)960 4} 1,000
The ratio of income to expenditure of a
company is 7 : 6. If the income of the
company is Rs. 26,000 then the savings
of the company is Rs.

¥ $oDb woeh, Sgare NG 7: 6 U

£0H wmabo &r. 26,000 & TG &
1) 1,000 2)2,000 3] 3.000 111000
The set of solutions of x* + 6x < 1 is
x4 6x <15 FEse 5D

Dix:-3<x<7)  2)x:-10<x<7}
x:-13<x<) dllxi-7T<x<13)

‘The roots of - +-—41—
x-47 x-31

124.

125.

126. =2 are

31 47
x-47 x-81
1) 38,77 2139, 78 3) 39, 79 4) 39, 77
127. 1A= (x:x|x-4| =5 thenA=
A={x:x|x-4| =5 owd A=
DiF 25 © 315, 2=} 4} (5]
If x,, X; are the roots of x* + 4x + k=0 and
X, -X;=2thenk =
X5, Xy @ X% 4+ 4x + k = 050 woodsr

X -% =208 k=

11 23 3-8 4-1
If log (x + 3) < log (2x - 5) then
log (x + 3) < log (2x - 5) woxd

5

=2 g, Sroe

128.

129.

Nxs-d 2

Iflog,¢(3x - 2) +lo¢m(5x +2) =log(10x - J)
then x =
10g10(3% - 2) + 10g;o(5% + 2) = 10g(10x - 3)

wond x =
14

130.

23 32 41

n‘+4n’+5
n

isan integer] then

131. IfA=(n:
e

e nmbes

O WPOTY wowg
N1 22

33 44
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137.

138,

139,

1S2. Suppose AABC is a triangle with the
perimeter 150 units. If the radius of
incircle of A ABC s 4 units, then the area
(in square units) of 4 ABC is

w8 AABC hipfos 150 chrdy. o A ABC

g0 4 chrddy wond, A ABC
BPego (3889 chrand)

1300 2 3250 4225
Suppose the sides of a rectangle R are
respectively equal to the sides of a paral-
lelogram P. If the angle between a pair of
adjacent sides of P is 30° then the ratio of
area of P to the area of R is

wf 8Y S&5E0 R &) i
357038 SSHyza P ' sheress Sirdem
aTyow, HEross Sddyze P O'D al ad
wd%) e HEEHo 30° wand PETRE,

03658

133.

Seonm 2l

RB7erp0l do 8
1)1:2 2)2:3 3)3:4 4]4:5
Each of the interior angles of a regular
18- gon is

a8 §5 18-5ha ') H8 wosEEno

1150°  2)160°  3) 144°  4) 156°

An equilateral triangle is inscribed in a
circle of radius 6 units. Then the area (in
square units) of the triangle is

8 BBy Bebuo § abrOly TgIdor fo
800" sospPosubon. Lk @ Bl
rego ($66Y chrdud)

1183 22743 38643 44543

a*- b*

134.

135.

lim
x-0

a L
1) log — 2] -log —

4 = ) -log 5

b b

3)log — =
) log, — 4 log —
1 5
) e 2) =

a-2x
3) 4

2y-a 3
If"Cy = "C, then 2"C,
“Cq = "C; wowd 2°C, =
10425  2)435 3445 4)455
The coefficient of 4" term in the expan-
. 1"
sion of fx - is ~120. Then n =

140.

141

142,

143.

144

145.

146.

147.

—

2RIDGD 43 B0 Heko -1y |

wpd n
18 2}9 310 4111
1A, B are two sets and A' is the compl,, |
ment of A then the dual of g
AU B =AUBISs

A B o B0k S, A 9Y, P9 4
woxd AU (AN B) =AU B S B8 Biung
A UGRAD) !

4 An(AUB) =
fA=(x:x-3x+2=0),
(x:x*-5x+6
(x:x*-3x+2
B=lx:x-5x46=0)

wand A-B=

Ny 2@ 3@ Al

If p, q are two statements then which of
the following is a tautology ?

P, q & 3ok BISToond GobTEd D

ERER
pvii-plva) 2lpAll-pag
3 pAl-p Ap=q

If p, q are two statements then the state.
ment equivalent to p v ((-p) A @) is

P. g Bod BIS5Toond pv((~p) A g &
Soy G350
paq 2)pvg 3)(~plvqg 4 pvig
If p, q are two statements then the in- |
verse of the statement ~p = q is |

P. q & Bohs S55Foond -p = q G388

gy I i
1q=(-p) 2 ~g=p |
3) (+p) = (-q) Yp=-q

IfA, B are two square matrices of order2
with AB = A, BA = B then B'® =

A, B Dof' 8808 $806% 738 09sr AB

=A, BA =B wod B =

1B 2)-B 31 -1
Ifx=a+e’, y=b+e”, 0aparameter then
the locus of the point (x, y) is
x=a+e’,y=b+e” 050D3 wand Doy |

(x, y) Dotk S¢o

Uxy-ax-by+ab-1=0
2)xy-bx~ay +ab- 1
B)xy-ax-by-ab+1=0
bx-ay+ab+1=0
Aline is concurrent with the lines 2x+7
=0andx +y+ 1= 0and is perpendicular

toy = 2x, Then the line is
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148.

&E B86Tp 2x +y =0, x +y + 1 =0Bpod
SRRGHYET ¥ = 2x % wovom dobd. w

583w

N2y +Xx43=0  2)2yv+x o
oy rxtl=0  A2y4x 0
Area (in square units) of the rectangle
formed by the coordinate axes and the
linesx=2,y=3is

ErETTen x=2,y = 33600 Dyt bY

S&8p Broge (3663 chrnyd)

16 212 324 436

If Co, €1y Cyr v Cyo are the binomial

coefficients in the expansion of (1 + %)%

then

189,28, .50 .Cx
c, c, Cus

Cov €y, Cyy woes Cso o0 (1 4 X)%° D38m'D

8538 HeTomd

c
1.80.2. %, 150 S0 o
Cn Cl a9

1) 1255 2) 1265 3) 1275 4) 1285

160. Which term in the expansion of

P
(x - g is independent of x ?

1 0
B-—| D360 D BEo x B S80 7
2) 8%

SECTION - C

nm 39" an®

Communication Ability
Questions : 50 Marks : 50
B : 50 Srdpen ;50

Fill in the blanks with appropriate verbs :

151.

152.

153.

154.

155.

He stood at the centre of the room and

weerens tO €TY
1) begin 2) begun
began 4) had began
In order to .. . the deadline for pay-

ment of fees, the students went in a
procession to the principal's room
extend 2) accelerate
3) move 4) forward
"It is quite dark here. Please .
light".
1) put 2)bum 3) switchl/‘l switch on
Dr. Mukherjee........ practicing medicine
since 1985.
is /2) has been
3) had been 4) shall be
The change in climate may ...
health.
1) effect

the

. your

affect  3) inflict 41 o0 2

Choose the correct answer :

1686.

157,

158.

159.

160.7 Byte in the context of computer is

161.

162.

163.

164.

/2) draw an inference

165.

Fill in the blanls with app:

166.

'Portal' in the context of internet means
- ¢ WA

2 engine
‘Bullish’ operation in stock cxchange
implies
1) fall i prices of shares
2) rising restrictions hy SERI
3) decontrol of stack exelinge operations

A rise in prices of s
Bankrupcy generally i
1) Collapse of banks
21 failure of banking or:
3) slump in econome

_A) inability 1o pay ones debi
Bourse is

1) a stock exchange
2) a financial document
a programming language
4 « shipping document

plies

isation

1) a group of files

a certain number of bits
3) an algorithm
4) the basic processor |
A:"Itis half past two let me have lunch®,
A implies that
1) he'll have his two course lunch
2) half of his work is over
/3) the time s 2.30 and he intends to have
his lunch

4) two of his associates have gone and he

intends to have lunch

X : "Will the market stabilise ?"

Z: "Lets hope so"

1) Z is pessimistic 2) Z is doubtful
3) Z is optimistic 4) Z is despondent

A : "I think that TV had a very bad

influence on people".

B : "I wouldn't say that"

Bis

1) agreeing with A 2) expressing doubt
_-3) disagreeing with A

4) expressing disappointment

A:'Thaven't seen you around. Youmust

be new".

B: "Yes, Iam".

A uses the helping word "must" to

1) emphasise his statement

3) express necessily
4) express surprise
"Women are better drivers than men"
Implies that women drivers are

1) faster 2) courteous

3) intereste driving more careful
PART

ropriate. ions :
A student should not be taught more
" an he can think ...
Nwith 2)for A about d)oll
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The coach dived ..

pool.
Nin Ao 3 onto

the
168. The Prime Minister accepted .....
offer of bilateral talks made by the

president of Pakistan
Nto 2 with 3)for A)so preposition

She works quite hard.You can't accuse
her ....... being lazy

Dwith 2on  3loff Aol

170. The plan ofaction proposed by the Chief
Minister is in consonance ........ "Vision

2020"
1) to 2] for 3) about _4)with

Read the following passage and fnswer ques-

tions 171-175 ©
The internet is clearly the foremost among

new information technologies that promise to sig-
nificantly impact the day to day circumstances of
all social relations. The Internet is a real example
of broad band wide area computer network that
allows cach individual user an equal voice or
atleast an equal opportunity to speak. Increasing
number of people upon discovering the Internet
are enamoured by the technology's ability to pub-
licly legitimate their self-expression and by the
freedom it provides from traditional space and
time barriers. A central question is whether, as is
often claimed, this empowerment and the ability
to conniect with increasing ease to ever growing
numbers of like minded people encourage a sense
of community.

171. The central question for the writer is
whether the internet

1) provides freedom of expression

2) encourages sense of community

3) Impacts upon daily activities

4) legitimates self expression

172. "Empowerment" means

1) invested with power

2) connected to the world wide web

3) legitimating relationship

4) receiving continuous supply of power
173. The Internet is a network that allows
1) mahy voices speaking at once

2) each individual user avoice

3) more individual more voices

4) dialogues

174. ‘'Enamoured by the technology' implies
people are

1) using the technology

2) finding freedom through the technology
3) popularising the technology

4) won over by the technology

175. Internet is a new technology that

1) disturbs datly living

2) Influences social relations

3) makes many promises

4) s not so significant

4) upon

Read the following passage and answer ques.
tions 176-180 :

Success docs nol mean the absence of
failures, 1L means the attachment of it
objectives. It means winning the war, nol cuen
battle. We have met people and who literal,

ander through life. They simply accept whatcye,
fat brings them. A few may succeed by acciden
but most suffer through a lifetime of [rustratioy,
and unhappiness, Have you ever wondered
some individuals, organisations are more suc
cessful than others ? It is not a secref. These
people simply think and act more effectively. They
have learnt how (o do 50 by investing in the mog |
valuable asset viz. people. The success of ap
individual organisation or country depends on the |
quality of the people. People cani be your bigges;
assel or your biggest liability.
176. According to the author success means
1) winning every battle
2) absence of failure
3) attainment of ultimate objectives
4) escaping accidents
177. By wandering through life
1) one succeeds
2) one meets accidents
3) one suffers
4) a few succeed and most suffer
178. The reason why some individuals are
more successful than others
1) is a secret
2) isdue to the fact that they think andact
more effectively
3) is due to the possession of large assels
4) is due to the fact that they are learned
179. The success of an organisation depends
on the
1) quality of their people
2) quality of the organisation
3) assets and the liabilities
4) quality of the country
180. The passage is about
1) organisation  2) people
3) country 4) success of people
Read the following passage and answer ques-
tions 181-185 :
Advertising is the practice of informing and
influencing others not personally known to the
communicator through paid messages in the me-
dia. From humble origins, advertising has devel- |
oped in parallel with modem industrial society
and the mass media., News sheets in the 17th
century carried brief statements, but it was not
until the late 19th century, with the advent of
mass production of consumer goods, that the
industry developed on the huge scale found today-
Advertising for consumer goads, whether of thf
‘fast moving' varlety (e.g. Washing powders) oF
‘durables’ (e.g. cars) has long been the most con
splcuous kind, on postersites, in the press, andon
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television. 'Display'ads for such products in news-
papers or magazines are characterised by their
e and use of graphics (especially photographs),

Zlogans. and large type. In contrast, classified'ads
are typically single-column width, consisting of
\vords only and grouped together under headings
{c.g. ‘personal’, 'situations vacant', or ‘wanted).
Other approaches include direct marketing (by
post or telephone) and direct response advertising
{via tear-off coupons), both of which have resulted
from the difficulty mass média advertising has in
reachinga target audience and measuring its own
effectiveness.

181. 'Conspicuous’ in this passage means
1) effective 2) influential
3) noticeable 4) direct

182. "Display ads for such products in news-
papers........"
The word such refers to
1) soaps 2] consumer goods
3) slogans 4) large type

183. Advertisingindustry started developing
on a large scale.

1) In the early 17th century

2) towards the end of the 19th century

3) in the late 17th century

4) at the beginning of the 19th century
184. Which among the following does not
come under 'durables’ ?

1) washing machines 2) cars

3) soaps 4) television

185. What was mainly responsible for the
large scale development of the advertis-
ing industry

1) Industrial society

2) mass media

3) graphics
4) mass production of consumer goods
PART - 4

Choose the correct answer :
186. Rescind means

1) enable 2) repeat
3) invalidate 1) wind up

187. 'Bench mark' méans
jastandard  2) a marked bench

3) a mark on a bench
4) water mark
188. 'Band width'is
A the capacity of the network to carry
information
2) the width of the cable
3) the width of the optical fibre
4) the width of the spectrum

189. A 'Trademark’ implies i
1) A well known and heavily advertised
product
_2) a legal status especially when regls-
tered with the government
3) goods that can be sold in good faith
4) intemational recognition of the product
190. A 'Modem'is
1) a computer's short term memory
_2) a device needed to send information
from one computer to another through
telephorie lines
3) a device for regulating the computing
speed
4) a device for enhanced performance of
the computer
Fill in the blanks choosing the correct word/
phrase :
191. The manager ........ his staff on their
excellent performance.
} complimented  2) complemented
3) supplicated 4] reprimanded

192. Who will ....... the children, while their
mother is in hospital ?
1) look for 2) look at
_-3¥look after 4) look upon
193.” He has a reputation ....... honesty.
Wwith 2 for 3)at  4)of
194. The building does not have the basic
1) aberrations  2) ablutions
-3) amenities 4) angularities

195. Don't scold the boy; he'll ... in time
) comeround  2) come back
3) come through  4) come over
Choose the correct meaning for the word :

196. Attribute means

) impute 2) retribute
3) arrange 4) affect
197. Venal means
1) poisonous 2) disease
3) revengeful A} corrupt

188. Impetus means
A motivating force 2) plan

3) money 4) impetuousness
199. Tenuous means

1) heavy 2) insistent

3) stringent '/11 weak
200. Preclude mean!

1)-insure 2) necessitate

3) exaggerate /4) prevent



[image: image13.png]~ ICET-2002 KEY WITH SOLUTIONS }ﬁ 1

x 14 a3 3 63 72 84 94 g
11) 8 1'3 ; 12{ :: u; 3 151 3 16) 3 173 18 3 19 2 zo;: |
21) 2 204 239 4 241 253 262 272 28 1 293 304
31) 3 32) 2 33 3 34 1 35) 4 36) 2 37 3 38 4 39) 2 40 4
41) 8 42) 1 43) 3 44 2 45) 2 46) 4 47) 3 48 3 49 4 50) 3
512 52 1 59 2 54 1 553 562 573 58 4 592 60 3]
61) 1 62 1 63 1 64 & 652 6604 67) 2 68 1 69 3 70 4
702 7202 73 2 741 793 7601 773 78 1 79 2 80 3
81) 1 82 1 83 2 84 4 85 2 86) 3 87) 2 88 4 89) 3 090 4
91) 2 92) 4 93 2 949 4 95 2 96) 4 97) 1. 98 1
99) Wrong problem 1000 3 101) 3 102) 2 103) 3 104) 4 105) 1 10§)
107) 4 108) 2 109) 2 1100 1 111) 4 112) 2 113) 3 114) 4 115 1 11§ 3
117) 2 118) 1 119) 3 1200 1 121) 2 122) 1 123) 1 124) 4 125) 1 126) 2 i
127) 1 128) 2 129) 3 1300 4 131) 1 132) 1 133) 1 134) 2 135) 2 136) 1|
137) 3 138) 3 139) 3 140) 3 141) 1  142) 2 143) 1 144) 4 145) 1 146) 2
147) 1 148) 1 149) 3 150) 4 151) 3 152) 1 153) 4 154) 2 155) 2 156) 2
157) 4 158) 4 159) 3. 160) 2 161) 3 162) 3 163) 3 164) 2 165) 4 166) 3
167) 2 168) 4 169) 4 170) 4 171) 2 172) 1 173) 2 174) 4 175) 2 176) 3
177) 4 178) 2 179) 1 180) 4 181) 3 182) 2 183) 2 184) 3 185 4 186) 4
187) 1 188) 1 189 2 190) 2 191) 1 192) 3 193) 2 194) 3 195) 1 196 1
197) 4 198) 1 199) ¢ 200) 4 . B
{
T
ICET-2002 SOLUTIONS FOR TOUGH QUESTIONS
1. (4) Since we cannot get the sides of 10. (4) Data are in sufficlent.
rectangle from both the statements. 11. (3) Statementsland Il are sufficient,
2. () Gtenx+y=l=y=1-x 12. (3) The line joining the . d points of
Substituting xinx? +y? =25 sides will be half of the third side {1
4 (1-x2=25 AC 7
= x+1+x*-2x-26=0 5 =3 =358
=9¢-2x-2=0 13. (3) With both 1 &2 we can getx=2
ag—x-uso 2 0 0
=x-4x+3x-12=0
ot 2y on 14. (3) Scalar matrix A= [0 a 0
= (x+3)x~4)=0 . 00a
=x=-3or4 Asa#1
ny=(1-(3)=4 or 1-4=-3 We can say that 'A' is a scalar matriv
aX 4y =3+ 43237 Statements I and Il are sufficient.
(or) 15. (3) From 1 2ch + 1t = 1100
Fryi=a)+ -3 =37 2 lc +2t=1300
- Statements 1and II are sufficient. Stmplifying both 1 ch = 300
3. (1) Sincesome composite numbers greater 1t =500
than 1 1 not divisible by 2 (eg : 9) 16. (3) From 1 & 2 we can get the values of .
4. (3) Both statements together are sufficlent R&N
to answer the question. 17. (3) As ‘A’ crosses a telegraphic pole inle
5. (3) time, ‘A’ Is moving faster. ¢
6. (3) Age of son at present = 7 years. - Statements I and Il are suffictent.
Ageofsonafter 7years=7+7= 14 years . 1(3) lemx 1
The ratio of ages of father and £6'-3=0: +3 it
son after 7 years=1:3 stzmmemsla.n. s 4
. . Age of father = 42 years = A's age 4 triangle =
7. (2) Since the product of two trrationals is 19. (3} Aveacfan i
an frrational number. Y3 16 vii 4= 44T sq unlts |

., (4) Data are (n sufficlent.
. (4) Data are in sufficient. Statement 11 alone is sufficlent. )




